B EREX
BH EA

iZIKEI(J)Wﬁ

s 5/29BLUARBDESTIE, ChETDEEDHELTHE
MEERELEL:

« BAED~OQ 5290FEEH

« BEO~® ABOBEEEH (5/29&YDLHLLY)

s BEHOR—RTH2I3TTDT, TAYSIVIELTTS
Ly

» CRNETODBESABICONT, IZEDHSHENIEADHY
FLI=n, BRLTTFSL

s CEELECAHETTHLISTIDT, HEETHITHERL
7RIS LB KURTHEREFLOTIRELTT S

i 7/17 D ExHERBIZ DL T(H)

g gxﬁzﬂjfﬁb‘c‘FéL\(ijﬁﬁﬂ,%%‘%%‘é“ﬂjfﬁb’CT
Ly

 SEQOBTYEN, BEETT

n BEEHGEWeD EDVY—RIEFE-THS-TH
¥TY
s ALDBEEIFELTT

s ITCOPCTEEBEERL TS
« BOD/—FPCTERT DI LIFELTT

s CNETOLR—MEE, BEMNE BEMETK
EEBELTHLTTEWL

3

7/17 D RAZRREIZOVVT (F)

CCOFICITE |~
SHENTTFELY

k)

» Collatz-A28 0T
« BRENEEY,
« FAHESE, IELTIET,
« BEHLESIE 2TES,
IhERUIRTE, EALGNEBATE, WO, 11255

fERE@

s BENEAAL, 15 HnETCollatz-AB D
FENELWNIEEHERTESLTOISLE
YER LA SN

(=l o




Gl
(ISAAILD=FH)

s NRAIDIABENTTETO5S5L%E
EELIV, L. XOTOY S LTHE
ENBES2TOTSLETERL TS,

1

11

121

1331

14641
15101051
161520 15 6.1

17 21°35 35 21°7°1
1 8 28:56 70 56-28 8 1
19 36-84 126. 126.84 36 9 1
= 0..9

NADILD=AROTOTSLD

L ki

print("Enter n: ");
n = gets.chomp.to_i
a = Array.new( n)
a.length.times{ [i|

(0..a.length-1).each{ i|
(0..a.length-1).each{ |j|
ifa[i][j]'=0then
printf( " %3d", a[il[j] )

a[i] = Array.new(n) else
print(" ")
end
(0..a.length-1).each{ [i| }
(0..a[i].length-1).each{ [j| print( "¥n")
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